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Multiplying Using Arrays Name:

Usethearray provided to solve each problem.

1) 52x43 =

2) 38x15=

3 3Bx22=

5) x17 =

4) 39%x47 =

6) 39x32 =

_____________________

Answers
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ﬂh Multiplying Using Arrays Name: Answer Key

Usethearray provided to solve each problem. Answers
1) 52x43= 2) 38x15=
40 3 10 5 1. 2,236
: : 2 570
: 30 (30 x 1qB0 x §) 3 770
50 (50x40)  (56%3) 300 150
2,000 150 ' 1833
i : 4. ]
i 8 |(8x 100885 5. 578
2 becennn e ' 80 140
[Z£.20) r<i3)
80 6 6. 1,248
3) 3Bx22= 4) 39x47 =
20 2 40 7
30 (30 x 40) (‘.:‘30 x7)
600 50 i
9 (9 x 40) f9x7
i 360 1 63
5 (5x20)  (8x2)
°) 34x17= 6) 39x32=
10 7 30 2
30 |(30 x 10)&30 x 7 30 (30 x 30) (334 2)
300 ' 210 900 BQ
4 [ax id)'i('zfx' 7 9 o (9 >< 30) ----- (9x 2)
ool 270 6
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